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oA2A2E+Y 20,1432 » 10AI2t » 128 2,418
OMAEHENZ 22l 22X E= 45,661
=Jl2g 2,148,336& » 1H » 128 25,781
oc¥ 2 2,148,336& * 45% = 1& 967
oc¥dIZad 2,148,336& * 50% = 1& 1,075
o H & F I 2,148,336& * 60% * 23| 2,579
cHXRSFIHE 110,350& * 19 2,097
oS 50,000& = 12& 600
oXHAASE 150,000& * 12& 1,800
ogsd 90,000& = 123 1,080
o ZAUGAH| 140,000& * 128 1,680
< JHH 2 & Hl 80,000& = 123 960
oA R 110,000& * 128 1,320
cItExd 40,0008 = 123 480
oAZtA2R+Y 20,6912 » 10AI2t » 128 2,483
cHMsLES=E 55 176% » 18 + 502 2,759
|23l 43,288
JlE2&l 43,288
201 L2l 38,088
01 At 22l 36,168
Oget=&H| 20,520
cRNE(2E) Jl2A
200,000& = 123 2,400
cRENSH(BMEET) I
200,000& = 123 2,400
cR2NARI(MNEZAZ) J122Hl
200,000& = 12& 2,400
CEMNBY(MASETAMR) JI2dl
200,000& = 12& 2,400
o2F ANREBE TY(SAMX S)
100,000& » 12& 1,200
CHMSAD ANPRE RU(SAXN S)
80,000& = 12& 960
CANEZANE AREE L (SAX )
80,000& = 12& 960
OMACHTNE AREE PL(SAX S)
80,000& * 123 960
o2& HIAMRII AEBE 7Y
200,000 = 6CH = 23] 2,400
CHMSIAR HEADII ADE 2
160,000 = 4041 = 23l 1,280
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